
Cannes Ecole Pagnol CE1 CE2 mme Berriri 

Maths Problem 

semaine des langues 2021 

 

Our problem 
Three classes of our school go to clean the shore. 
They pick up 42 bags of waste in total. 
The first class picks up 18 bags. 
The second class picks up 11 bags. 
 
How many bags does the third class pick up? 

 

Calculation: 

18 + 11  =  29  

eighteen plus eleven equals (makes) twenty-nine 

42 - 29  =  13  

fourty-two  minus twenty-nine equals (makes) thirteen 

 

Answer:  

The third class picks up 13 bags. 


